20154 SLO R RR—YHY—Fvh EI LERKER 2015/5/3
KIDS
s= o8 L=~ | FE | RE | =
Pos| No. (322 WA ISR TT TTHNE{L B Bt ISGIEE:
1 1B B K-TECH With INULM=8 (XA 01:03.557 3 8 1 8
2| o|ingm BEH F—LFHA 01:03.206 2 1 2 8
3| 8|&F HIEF SLL—I05 01:03.690 5 4 3 8
4] 6likEE C2A RTKAL LD 1 —Awith+H 7 01:03.805 7 3 4 8
5| 2|FEl IFRE RTKAL D a—RwithFHA 01:03.621 4 5 5 8
6| 22|FAHE JtkE F—LFTHA 01:02.912 1 2 6 8
7] 5|®x IEZE F—LFTHA 01:03.937 8 7 7 8
8| 3K KB F—LFHA 01:03.696 6 6 8 8
CADET
Pos| No. |  KS4/i— TURSUR o || ZE | R mEy
1 2|l =& RT7—JLF 47.305 1 1 1 12
2| 14|l XE BA hxIL—209 47.625 2 2 2 12
3| 19|BRAE HA SLL—UY 48.055 6 5 3 12
4] 1|4t w3 RTKAL O 1—AwithAHA 47.721 4 4 4 12
5| 10[FH =EX F—LFHA 48.254 8 6 5 12
6| 16|E)I 5H&k KART KOZO R 47.884 5 3 6 12
71 1Em DB F—LFTHA 48.349 9 7 7 12
8| 12|XJIl EH JJLYRT 48.402 10 8 8 12
9| 1[ET =& F—LFTHA 48.632 14 12 9 12
10 8|EE EA SLL—I08 47.696 3 16 10 12
11| 15| =B F—LFHA 48.734 15 11 11 12
12| 9|XxAm EZE F—LFHA 48.147 7 17 12 12
13 17|84 R F—=LZ 48.425 11 13 13 12
14|  4A[HMA F@EH hFxIL—05 48.586 13 10 14 12
15 20|=iF &R TIGRE 48.969 16 14 15 12
16|  5|thiE FK JJLYRT 48.538 12 9 16 12
17] 23| EM #HE hF¥FIL—05 49.259 17 15 17 12
FD.OPEN
Pos| No. |  KS4/i— TURSUR o || ZE | R mEm
1| 15|76 {G¥A FThHAT4TL 47.495 5 5 1 15
2| 7|l B F—LFTHA 47.658 6 3 2 15
3| 8|ftE ER TIGRE 47479 4 1 3 15
4] 3B|ARH & F—LFHA 47.393 2 4 4 15
5| 2[chdE ¥t F—LFHA 47.434 3 2 5 15
6] 9[ET =& F—LFTHA 47.357 1 9 6 15
7] 20|F)I B3 S ARacing 47979 9 8 7 15
8| 27|MA&X iR F—LFTHA 47.678 7 6 8 15
9| 23|EEX EEsh F—LFTHA 47.967 8 7 9 15
100 1[deE #H F—LFHA 48.557 10 10 10 15
11 6l/MNEE B F—LFHA 48.612 11 11 11 15
12 10%H#H B8 F—LFHA 49.543 12 12 12 15
13|  5\bAfk #%0 F—LFTHA 50.543 13 13 13 15
AVANTI
s= e . L=- | FPE | R | 5o
Pos| No. |*7'f/ \ rr F7/f* TT -I_I-J”Eﬁl. ”LEﬁI.L "LE{EI.L J:.I @Ki
1 1[IUA A TIGRE 44.264 1 1 1 15
2|  3|F0H sh— A ARacing 44518 2 2 2 15
3| 5|fhH THAF S ARacing 44987 3 3 3 15
4] 2B HEE IRy h 45.008 4 5 4 15
5| 7|18 Kb IRy 4H 45.303 5 4 5 15
SS
Pos| No. RS54 /8— ISk TT TTIEAL HTE% ﬂéﬁ EE%]
1 HESTEEIDRN F—LFTHA 44.808 1 2 1 15
2| 56| K ZEt I3z 45593 10 7 2 15
3| 8liF/K HEEER F—LFTHA 45.023 4 4 3 15
4] 6[FEX [F TIGRE 44 841 2 1 4 15
5| 18|5R ik F—LFHA 45514 8[10(DNF) 5 15
6] 54[@kR A A ARacing 45.508 7 8 6 15
7] 7[/h D Rt F—LFHA 45.093 6 5 7 15
8| 14|fAR —#i KRZ7HIk— 44.817] 11(DQ) 3 8 15
ol 771[)/\ K EFE ASdARacing 45515 9 9 9 14
10|  3[XiF #hus F—LFTHA 44.869 3 6| 10(DNF) 0
11| 5[@7)ll EEs S ARacing 45.067 5/11(DNF)| 11(DNF) 0
SSS
Pos| No.|  FS4/8— TURSUR e 22| B mEy
1 2|8%H RA KRZ7Jk)— 45.476 2 2 1 15
2 |HE ¥ I3z 45.385 1 1 2 15
3] 8|El B A ARacing 45.813 4 4 3 15
4] 3|EH EW F—LFHA 45.641 3 3 4 15
5| T[UX Bz SLL—UY 47.044] 8(DQ) 6 5 15
6] 13[FE Ip F—LFHA 47.784 7] 8 (DNF) 6 15
7] 6|FHIE {4 KRZ7k!)— 46.129 6 5| 7(DNF) 0
8] 5|%ZH EATYY  |SHARacing 46.012 5 7] 8 (DNF) 0
%30
Pos| No. RS54 /3— TSV TT | TTIBGL HTE% ﬁéﬁ R
1| 23|13 &% aA—TAVT RE— 42.335 1] 6 (DNF) 1 18
2l 1ET RER F—LFTHA 42.568 2 1 2 18
3| 2|fFE ZH F—LFTHA 42.657 4 3 3 18
4] 1758 BE F—LFHA 42 571 3 2 4 18
5| 26[f8]R& & F—LFHA 42948 5 4 5 18
6| 34|1FEE = Hh—hrD—HRESTF 43.228 6 5 6 18
TIA/MZ200
Pos] No. FS4 /3 — IRSUE TT  [TTIEf[E—F1 [e=MPT[ E—F2 [ E—F2PT [HeEPT
1 [ 85X 53.612 3 1 20 1 20 40
2 TR RA 53.607 2 3 72 2 15 27
3 KIZHh LA 53.398 1 2 15 3 72 27
4 MR FE 54.002 6 6 6 4 710 16
5 ES A 53.843 4 4 10 6 6 16
6 JI B 53.968 5 5 8 8 3 11
7 £5HF EBiE 54.149 8 9 2 5 8 10
8 EF K& 54.529 10 13 0 7 4 4
9 AR E 54.040 7 8 3 10 7 4
10 KH % 54.161 9 7 4 13 0 4
11 =T R 55.081 13 10 7 9 2 3
12 g mEE 54.792 11 11 0 11 0 0
13 R E— 54.865 12 12 0 12 0
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